G POk

2 AT RE R TT

4

(o +6x—4)(x—5)—6x4x— 1

(Bx + 4)(5x% — 2x+ 5) — (x + 2)(4x + 4)

2x+ (1 =3x)(5x— 1)(x+2)

(6x + 6)(5x% — 2x + 5) — (4x — 5)(2x + 2)

(5x* + 5)(5x — 1) — 58 +2x +2

H #A:

o
=

(bx+ 3)(@x—6)(6x+ 1)

Gx—6)x— D(2x— 1)

(6x + 5)(2x + 2)(x + 3)

3x+ (1 —x)4x+ 4)(3x—5)

(4x + 3)(3x* + 3x + 4) — (3x — 4)(6x + 3)
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G POk

2 AT RE R TT

W44

(2 +6x—4)(x—5)—6x4x— 1
X+ x%—58x+ 19

(Bx+ 4)(5x% — 2x + 5) — (x + 2)(4x + 4)
15x%° + 10x* — 5x + 12

2x+ (1 =3x)5x— DH(x+2)
—15x° =227 + 17x— 2

(6x+ 6)(5x° — 2x + 5) — (4x — 5)(2x + 2)
30x° + 10x% + 20x + 40

(5% +5)(5x— 1) — 5% +2x +2
25x° — 10x% +27x— 3

(6x + 3)(4x— 6)(6x + 1)
144x° — 120x” — 132x— 18

Gx—6)x— D(2x— 1)
10x° = 27> + 23x— 6

(6x + 5)(2x + 2)(x + 3)
12x° + 58%° + 76x + 30

3x+ (1 —x)4x+ 4)(3x—5)
—12x° + 206 + 15x — 20

(4x + 3)(3x° + 3x + 4) — (3x — 4)(6x + 3)
1253 + 3x% + 40x + 24
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